General Info

Number: 690502-100000

Description: DUBLIN ROAD 30" WATERLINE

Deadline: 2022-011-2 19:00:00 UTC

Bids		
Business	Bid Total	
Complete General Construction	\$14,456,962.23	
Elite Excavating Co. Of Ohio	\$17,890,033.65	

ORD #xxxx-xxxx, Division of Water Dublin Road 30" Waterline 650502-10000 Bid Tabulation ODI Goal = 10%

	SPEC	ITEM DESCRIPTION	UNIT	QUANTIT
1	NO. 201	TREE REMOVED, 18-INCH SIZE	EA	
2	-	PAVEMENT PLANING, ASPHALT CONCRETE	SY	1618
3		DRIVEWAY PAVEMENT REPLACEMENT, TYPE III A (ASPHALT)	CY	101
4	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B (CONCRETE)	CY	
5	-	PERMANENT PAVEMENT	CY	65
6	_	TACK COAT	GAL	243
7	-	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448), PG70-22M	CY	67
8	-	10-INCH NON-REINFORCED CONCRETE PAVEMENT	CY	16
9		CURB RAMP	EA	1
10	-	CONCRETE CURB AND GUTTER, TYPE STANDARD	LF	500
11		MAINTAINING TRAFFIC	LS	300
12	-	SPECIAL - WORK ZONE TRAFFIC SIGNAL	EA	
13	_	TEMPORARY PAVEMENT	SY	578
14		DETECTOR LOOP	EA	1
15		SEEDING AND MULCHING	SY	687
16		CORROSION PROTECTION (20" DIAMETER OR GREATER)	LS	007
17	-	6 INCH WATER PIPE AND FITTINGS	LF	-
18	-	20 INCH WATER PIPE AND FITTINGS	LF	4
19	-	30 INCH WATER PIPE AND FITTINGS	LF	1163
20	-		CY	
		CONCRETE BLOCKING CLASS COC 6, INCREASE OR DECREASE		5
21		DUCTILE IRON FITTINGS, INCREASE OR DECREASE	LBS	640
22	100000	6 INCH VALVE AND APPURTENANCES	EA	
23		20 INCH BUTTERFLY VALVE AND APPURTENANCES	EA	
		30 INCH BUTTERFLY VALVE AND APPURTENANCES	EA	2/
25	_	48 INCH CASING PIPE	LF	29
26	_	FIRE HYDRANT	EA	
27	-	6 INCH HYDRANT EXTENSIONS	EA	
28		12 INCH HYDRANT EXTENSIONS	EA	1
29	_	24 INCH HYDRANT EXTENSIONS	EA	500
30	_	INCREASE OR DECREASE IN EXCAVATION AND BACKFILL	CY	500
31	_	CONTINUITY TESTING	LS	
32		TEMPORARY SEEDING AND MULCHING	SY	687
33	-	PERMANENT PAVEMENT	CY	145
34	-	SEDIMENT AND EROSION CONTROLS	LS	
35	_	SURVEY COORDINATES	LS	
36	-	VIDEO INSPECTION OF SEWERS	LF	14
37	_	PROJECT IDENTIFICATION SIGNS	EA	
38	_	ROCK EXCAVATION	CY	408
39	SPEC	TREE REPLACEMENT	EA	icommuni
ALTE	RNATE	BIDS - PCCP OR STEEL		
	801	30 INCH WATER PIPE AND FITTINGS (DUCTILE IRON)	LF	(11,63
	801	30 INCH WATER PIPE AND FITTINGS (PCCP)	LF	11,63
	801	30 INCH WATER PIPE AND FITTINGS (STEEL)	LF	11,63
	801*	CATHODIC PROTECTION SYSTEM DESIGN & INSTALLATION - STEEL PIPE	LS	i de la companya de l
- 3	801*	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	LBS	(6,40
	801*	ALLOWANCE FOR EXTRA FITTINGS, PCCP CONCRET OR STEEL, COMPLETE IN PLACE	EA	1
	SPEC	ALLOWANCE FOR ADDITIONAL FLANGE ISOLATION ADAPTORS FOR STEEL OR CONCRETE PIPE	LS	
				SUBTOTAL

V	UNIT COST	TOTAL COST				
4	esession of	listance in 1895				
30	\$ 3,000.00 \$ 3.75	\$ 12,000.00 \$ 60,673.33				
15	\$ 3,75 \$ 350.00	\$ 5,224.07				
-		The State of the S				
17		\$ 11,058.02				
57	\$ 400.00	\$ 262,800.00				
18	\$ 2.00	\$ 4,875.36				
4	\$ 250.00	\$ 168,537.04				
54	\$ 150.00	\$ 24,578.70				
12	\$ 3,000.00	\$ 36,000.00				
00	\$ 40.00	\$ 200,000.00				
1	\$ 400,000.00	\$ 400,000.00				
5	\$ 14,000.00	\$ 70,000.00				
39	\$ 25.00	\$ 144,731.67				
13	\$ 4,000.00	\$ 52,000.00				
70	\$ 3.00	\$ 20,611.33				
1	\$ 30,000.00	\$ 30,000.00				
17	\$ 300.00	\$ 14,100.00				
18	\$ 425.00	\$ 20,400.00				
38	\$ 650.00	\$ 7,564,700.00				
35	\$ 160.00	\$ 15,172.50				
)1	\$ 4.00	\$ 25,603.60				
7	\$ 1,400.00	\$ 9,800.00				
2	\$ 16,000.00	\$ 32,000.00				
9	\$ 28,000.00	\$ 252,000.00				
95	\$ 2,200.00	\$ 649,000.00				
7	\$ 4,000.00	\$ 28,000.00				
6	\$ 750.00	\$ 4,500.00				
12	\$ 750.00	\$ 9,000.00				
4	\$ 900.00	\$ 3,600.00				
00		\$ 250,000.00				
1	\$ 10,000.00	\$ 10,000.00				
70	\$ 2.00	\$ 13,740.89				
51	\$ 400.00	\$ 580,400.00				
1	\$ 15,000.00	\$ 15,000.00				
1	\$ 15,000.00	\$ 15,000.00				
10	\$ 15.00	\$ 2,100.00				
8	\$ 1,000.00	\$ 8,000.00				
39	\$ 130.00	\$ 531,555.56				
4	\$ 1,000.00	\$ 4,000.00				
4	5 1,000.00	3 4,000.00				
8)	\$ 650.00	\$ (7,564,700.00)				
8	\$ 600.00	\$ 6,982,800.00				
8	\$ 700.00	\$ 8,146,600.00				
1	\$ 35,000.00	\$ 35,000.00				
1)	\$ 4.00	\$ (25,603.60)				
2	\$ 5,000.00	\$ 60,000.00				
1	\$ 5,000.00	\$ 5,000.00				
	ONSTRUCTION	\$ 11,560,762.08				
	IGENCIES (15%)	\$ 1,734,114.31				
	TOTAL	\$ 13,294,876.39				
	IOIAL	- TOISTION 0:33				